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datal <- read. table(“ex3-3. csv”, header=TRUE, sep=",”)
datal

#

t 7T AR

#

CE_lagl < c(0, datal$CE[1:length(datal$CE)-1])

regl <- Im(CE"YD+CE_lagl, data=datal)

summary (regl)

windows ()

plot (resid(regl))

#

8 X—v oD hffEE
#

residl <- resid(regl)
residl

residl_lagl <- c¢(0, resid(regl) [1:length(residl)-1])
residl_lagl

summary (Im(residl residl_lagl-1))

rhol < coef (summary (Im(residl residl_lagl-1))) [1, 1]
outl <- summary (regl)

schat <- outl$coefficients[3, ”Std. Error”]
durbinsh <- rhol * sqrt((length(datal$CE)-1)/(1-(length(datal$CE)—-1)*schat 2))
durbinsh

#

T - T T OB

#

YD_lagl <- c(0, datal$YD[1l:length(datal$¥D)-1])
YD_lag2 <- c¢(0, YD_lagl[1l:length(YD_lagl)-1])
YD_lag3 <- c¢(0, YD_lag2[1:length(YD_lag2)-1])
WYD1 <- datal$YD + YD_lagl + YD _lag2 + YD_lag3
WYD2 <- YD _lagl + 2 * YD_lag2 + 3 * YD_lag3
WYD3 <- YD _lagl + 4 * YD_lag2 + 9 * YD_lag3

#

#NT A =2 OHEE

#

almon <- Im(datal$CE WYD1+WYD2+WYD3)

summary (almon)

#

B HEDIRNTA—HA~DEH

#

coefl <- coef (summary (almon))

bl <- coefl[2]

b2 <- coefl[2] + coefl[3] + coefl[4]

b3 <- coefl[2] + 2%coefl[3] + 4%*coefl[4]

b4 <- coefl[2] + 3*coefl[3] + 9%coefl[4]
para_org <-c(bl, b2, b3, b4)

para_org
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datal <- read.table ("dummyl. csv”, header=TRUE, sep=",")
datal

regl<-Im(Y"X, data=datal)

summary (regl)

windows ()

plot (resid(regl))

#

# X —EHE AN -ET L

#

datal$D <- ifelse(datal$YEAR==1993, 1, 0)
reg2<-1m(Y"X+4D, data=datal)

summary (reg2)

windows ()

plot (resid(reg2))
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datal <- read.table(“ex5-4.csv”, header=TRUE, sep=",”)
datal

datal$Dl <— ifelse(datal$QUARTER==1, 1, 0)

datal$D2 < ifelse(datal$QUARTER==2, 1, 0)

datal$D3 <— ifelse(datal$QUARTER==3, 1, 0)

plot (datal$YD, datal$CE)

regl<-1m(CE"YD+D1+D2+D3, data=datal)

summary (regl)

windows ()

plot (resid(regl))
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datal <- read.table(“ex3-3.csv”, header=TRUE, sep=",”)
datal

plot (datal$yYD, datal$CE)

regl<-1m(CE"YD, data=datal)

abline(regl)

summary (regl)

windows ()

plot (resid(regl))

#

HRE Y X — L EHIA S X —
#

datal$D <- ifelse(datal$YEAR>=1992, 1, 0)
datal$DYD <- datal$D*datal$YD

datal

reg2<-1m (CE"YD+D+DYD, data=datal)
summary (reg?2)

windows ()

plot (resid(reg2))

#

HEE L ORE

#

anova (regl, reg2)



